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KEY FOR CLASS : 05

Please note that this key is within the purview of Oxford Advanced Learner’s Dictionary, published in 2014.

Explanations and answers to select questions
02 Option (A) is the correct answer. A bed of roses.
03 Option (D) is the correct answer. Its homophone is ‘Strait’.
05 Option (D) is the correct answer. The 6 words are : Anti, Rain, Rani, Rant, Tarn, Tian.
08 Option (C) is the correct answer. ‘Gallows’ is the same spelling for its singular and plural.
10 Option (B) is the correct answer. The correct spelling is : Faeces.
11 Option (C) is the correct answer. It is the comparative degree of the adjective ‘Strange’.
13 Option (C) is the correct answer. They are : ‘Croc-o-dile’.
25 Option (B) is the correct answer. The first syllables of ‘one-eyed’ and ‘university’ produce consonant sounds

as in ‘won’ and ‘you’ respectively, so article ‘a’. The first syllable of ‘unconcious’ produces a vowel sound
as in ‘urn’, so article ‘an’.

26 Option (C) is the correct answer. 'Should' is used to refer to a possible event, situation or outcome, and
so should be used here as the context suggests.

30 Option (D) is the correct answer. The reporting verb (says) being in present tense, there is no change of tense
in the reported speech without quotes.

31 Option (A) is the correct answer. Only that is not an accessory.
34 Option (C) is the correct answer. Respect is opposite of Irreeverent and so is Care of slipshod.
40 Option (C) is the correct answer. The three types are : Leafy greens, root and cruciferous vegetables.
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